
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Lecture 8 

finding the moments about zero and moments about mean 

1. moments about zero: 

is the set of sample observations and 
 

 is the no. of observations 

as moment about zero is equal to E(xr) 

hence the rth moment about zero is  

 
 

 

2.   Moment about mean  

is the rth sample moment about mean 
 

where   is the sample variance 
 

 
      is standard deviation 
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 there is a right and weak skewed 

 the shape of distribution is thin 

Moments for grouped data 

1.   Moments about zero 

are the frequencies of 
each category 

are the sample categories and   
 

 

 
hence the no. of observations equals to  

is the rth sample moment about mean 
 

 

 
 

then the mean equal to  
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2.   Moments about Mean 

is the rth sample moment about mean 
 

where   is the sample variance 

 is standard deviation 

 

 is a variance 

  

 

 

there is a left and weak skewed  

 the shape of distribution is thin 
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